Multiplication et Division par 10% (H)

Trouvez chaque produit ou quotient.

1,8 x10% = 2,61+ 10% =
1,979 + 10 = 42 x10%=
2,3988 x 10% = 5099 x 102 =
4,79 + 10% = 8,939 x 102 =
58 x 10% = 7,493 + 10% =
3,66 + 102 = 5631+ 10% =
5,227 X 10% = 1,5+ 10%2 =
1,8234 + 10% = 1,209 +~ 102 =
8,171 x 10% = 3,08 ~ 10% =
8,03 X 10% = 2,3904 x 10% =
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Multiplication et Division par 10 (H) Solutions

Trouvez chaque produit ou quotient.

1,8 X 10* =180

1,979 + 10*=0,01979

2,3988 x 10% = 239,88

4,79 + 10* = 0,0479

5,8 X 10% =580

3,66 +~ 10% = 10,0366

5,227 x 10% = 522,7

1,8234 + 10%>=0,018234

8,171 x 10> =817,1

8,03 x 10* =803

2,61 +10%=0,0261

4,2 x 10%> =420

5,099 x 10* =509,9

8,939 x 10* = 893,9

7,493 = 10%* = 0,07493

5,631 + 10° = 0,05631

1,5+ 10 = 0,015

1,209 + 10%=0,01209

3,08 + 10 =0,0308

2,3904 x 10% = 239,04
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